CLH report for Nitric acid … (>70% and <70%) from Dossier Submitter BAuA, March 2017 
Comment by Martin Paparella, Environment Agency Austria, 2017-06-09

I would like to thank Germany for their careful and comprehensively written CLH Report for Nitric acid …%.
From the explanation under the heading “Acute inhalation toxicity estimate (ATE inhalation)”, on pages 29-31, it appears that the ATE of 3 mg/L/4h should be corrected to 2.1 mg/L/4h. I would ask to explain this with some more words, since the ATE of 3 mg/L/4h is based on an LC50 value for the pure HNO3, not a 70% HNO3 solution. 
Furthermore it appears clear from the CLH report, that for calculating ATEs for mixtures containing less than 70% HNO3, DE suggests to use the formula from CLH regulation, Annex I, Part 3, Point 3.1.3.6.1. or 2.
It would be useful to include also considerations, why these formulas should be used in spite of the fact that the relation between aqueous concentration of HNO3 and its vapour pressure is not linear. For regulation of products it is important to agree on a highest concentration that would not lead to a classification in category 3 (but only 4 or no classification). Eventually the available human data indicating accidents at the low concentrations of 20% could be used to support this?
[bookmark: _GoBack]However the following logic should be considered and discussed by RAC:
The application of the formula according to CLP Annex I, 3.1.3.6.1 (100/ATEmix = Ci/ATEi)  to calculate the maximum ci in the solution which would not lead to classification of the mixture for (vapour) inhalation toxicity (100/10 = ci/3; ci = 30%) is scientifically not convincing, since there is no linear relationship between the aqueous concentration of HNO3 and its vapour pressure. Considering the vapour pressure of HNO3 at 60% (i.e. 120 Pascal) and 70% (i.e. 390 Pascal) and applying the ideal gas law (vapour pressure [Pa] x molecular weight [g/mol])/(gas constant R (8,314) x temperature [K] (298)) results in a saturated vapour concentration of 3 mg/L HNO3 and 9.9 mg/L HNO3, respectively. Considering that HNO3 is classified in category 3 (ATE of 3 mg/L), a concentration in the solution of 60% and higher would result in a saturated vapour concentration leading to lethality. Consequently these mixtures should be classified for category 3.
A solution with 50% HNO3 (i.e. 30 Pascal) would lead to a saturated vapour concentration of 0.76 mg/L. This is 4-fold below the ATE of 3 mg/L for HNO3, hence the ATEmix for this vapour is 4 fold higher, i.e. 12 mg/L. Consequently a 50% solution should be classified in category 4 (category 4 range: 10-20 mg/L).
Following this logic, any solution leading to a saturated vapour concentration from 0.9 mg/L and higher should be classified with acute toxicity category 3 (ATEmix < 10mg/L). Any solution leading to a saturated vapour concentration between 0.9 mg/L and  0.45 mg/L should be classified with acute toxicity category 4 (ATEmix between 10 mg/L and 20 mg/L).  
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Physikalische Eigenschaften von HNOy/H,0-Mischungen in Abhangigkeit von der
Konzentration bei 20 °C und 1,013 bar'”
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